ON GENERALIZED FIBONACCI AND *k*-GENERALIZED FIBONACCI NUMBERS

Pattarawan Singavananda, Hatipah Kusa-A, Suwila Chakapi and Adisak Denphetnong^{*}

Program in Mathematics, Faculty of Science and Technology Songkhla Rajabhat University

160, Moo 4, Tambon Khoa-Roob-Chang, Muang District, Songkhla 90000, Thailand pattarawan.pe@skru.ac.th; { 624254015; 624254017 }@parichat.skru.ac.th *Corresponding author: adisak.de@skru.ac.th

Received September 2023; accepted December 2023

ABSTRACT. In this paper, we provide some new identities for a family of k-generalized Fibonacci numbers which are a generalization of both Fibonacci numbers and Lucas numbers. We investigate the relationships among the terms of k-generalized Fibonacci numbers and examine the sum and the difference of those numbers, especially in case of kn $\pm r$ where $r \in \{0, 1, 2, 3\}$.

 ${\bf Keywords:}$ Fibonacci number, Lucas number, Generalized Fibonacci number, k-generalized Fibonacci number

1. Introduction. Fibonacci numbers are one of the most well-known numbers in mathematics. Also, those numbers have many important applications to various fields [1], e.g., computer science, physics, biology, and statistics. Some applications of Fibonacci sequences in group theory were studied by Campbell et al., see in [2, 3, 4]. The Fibonacci numbers F_n are given by the recurrence relation:

$$F_{n+1} = F_n + F_{n-1}, \quad n \ge 1$$

with the initial values $F_0 = 0$, $F_1 = 1$.

Koshy [5] wrote one of the most popular books of Fibonacci and Lucas numbers. Those books have many applications of Fibonacci numbers to various fields of mathematics and science and numerous recurrence relations, which are a generalization of Fibonacci and Lucas numbers. For $a, b \in \mathbb{R}$ and $n \geq 1$, the generalized Fibonacci numbers are defined by

$$G_{n+1} = G_n + G_{n-1}$$

with the initial values $G_0 = a, G_1 = b$.

El-Mikkawy and Sogabe, see in [6], gave the definition of generalized k-Fibonacci numbers as follows:

$$F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r, \quad n = mk + r \ (0 \le r < k), \ m, r \in \mathbb{N} \cup \{0\}.$$

It can be seen that there are several studies of them in the same manner as Fibonacci numbers. The Fibonacci, generalized Fibonacci and generalized k-Fibonacci numbers were inverstigated by many researchers [7, 8, 9, 10, 11, 12, 13, 14, 15, 16]. However, almost identities obtained from the study of k-Fibonacci and generalized k-Fibonacci numbers are the cases k = 2 and k = 3.

DOI: 10.24507/icicel.18.08.801

In this paper, we investigate k-generalized Fibonacci numbers where k is an arbitrary positive integer. We provide some identities and relationships among those numbers, especially in the case of $kn \pm r$ where $r \in \{0, 1, 2, 3\}$. In the results, we focus on the sum and the difference of those numbers.

2. **Preliminaries.** Throughout this research, we use the definition of k-generalized Fibonacci number, which was introduced by Yilmaz et al., see in [17]. For $n, k \ (k \neq 0) \in \mathbb{N}$ the k-generalized Fibonacci numbers are defined by

$$G_n^{(k)} = \frac{1}{\left(\sqrt{5}\right)^k} \left([a+b\alpha]\alpha^{m-1} - [a+b\beta]\beta^{m-1} \right)^{k-r} \left([a+b\alpha]\alpha^m - [a+b\beta]\beta^m \right)^r;$$

$$n = mk + r \left(0 \le r < k \right), \ m, r \in \mathbb{N} \cup \{0\}$$

where $\alpha = (1 + \sqrt{5})/2$ and $\beta = (1 - \sqrt{5})/2$.

Moreover, they gave a relationship of between k-generalized Fibonacci numbers and generalized Fibonacci numbers as follows:

$$G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r, \quad n = mk + r \ (0 \le r < k), \ m, r \in \mathbb{N} \cup \{0\}.$$

From the above equation, we have that the 1-generalized Fibonacci number $G_n^{(1)}$ is just the ordinary generalized Fibonacci number G_n because $G_n^{(1)}$ is a, b, a + b, a + 2b, 2a + 3b, 3a + 5b, 5a + 8b, 8a + 13b, 13a + 21b, 21a + 34b, 34a + 55b, ... The first few numbers of the k-generalized Fibonacci numbers for <math>k = 2, 3 are as follows:

$$\begin{split} \left\{G_{n}^{(2)}\right\}_{n=0}^{10} &= \left\{a^{2}, ab, b^{2}, ab+b^{2}, a^{2}+2ab+b^{2}, a^{2}+3ab+2b^{2}, a^{2}+4ab+ab^{2}, \\ &\quad 2a^{2}+7ab+6b^{2}, 4a^{2}+12ab+9b^{2}, 6a^{2}+19ab+15b^{2}, 9a^{2}+30ab+25b^{2}\right\} \\ \left\{G_{n}^{(3)}\right\}_{n=0}^{10} &= \left\{a^{3}, a^{2}b, ab^{2}, b^{3}, ab^{2}+b^{3}, a^{2}b+2ab^{2}+b^{3}, a^{3}+3a^{2}b+3ab^{2}+b^{3}, \\ &\quad a^{3}+4a^{2}b+5ab^{2}+2b^{3}, a^{3}+5a^{2}b+8ab^{2}+4b^{3}, a^{3}+6a^{2}b+12ab^{2}+8b^{3}, \\ &\quad 2a^{3}+11a^{2}b+20ab^{2}+12b^{3}\right\}. \end{split}$$

3. Main Results. In this section, we provide some relationships among the terms of k-generalized Fibonacci numbers and the relationships among generalized Fibonacci number and k-generalization Fibonacci numbers, especially in the case of $kn \pm r$ where $r \in \{0, 1, 2, 3\}$.

Theorem 3.1. Let n, k be positive integers. Then

$$G_{kn+1}^{(k)} = G_{kn}^{(k)} + G_{kn-1}^{(k)}.$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$. Consider $G_{lm+1}^{(k)} = G_n^{k-1} G_{n+1}$

$$\begin{aligned}
& {}^{(k)}_{kn+1} = G_n^{k-1} G_{n+1} \\
& = G_n^{k-1} (G_n + G_{n-1}) \\
& = G_{kn}^{(k)} + G_{kn-1}^{(k)}.
\end{aligned}$$

Corollary 3.1. Let n be a positive integer. Then

$$G_{3n+1}^{(3)} = G_{3n}^{(3)} + G_{3n-1}^{(3)}.$$

Proof: For k = 3, the corollary follows by Theorem 3.1.

Theorem 3.2. Let n, k be positive integers. Then

$$G_{kn+2}^{(k)} = G_{kn}^{(k)} + 2G_{kn-1}^{(k)} + G_{kn-2}^{(k)}$$

Proof: Since $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for $n = mk + r \ (0 \le r < k)$, we consider

$$G_{kn+2}^{(k)} = G_n^{k-2} G_{n+1}^2$$

= $G_n^{k-2} (G_n + G_{n-1})^2$
= $G_{kn}^{(k)} + 2G_{kn-1}^{(k)} + G_{kn-2}^{(k)}$.

Corollary 3.2. Let n be a positive integer. Then

$$G_{3n+2}^{(3)} = G_{3n}^{(3)} + 2G_{3n-1}^{(3)} + G_{3n-2}^{(3)}$$

Proof: For k = 3, the corollary follows by Theorem 3.2.

Theorem 3.3. Let n, k be positive integers. Then

$$G_{kn-2}^{(k)} = G_{kn+2}^{(k)} - 2G_{kn+1}^{(k)} + G_{kn}^{(k)}.$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$. Consider

$$G_{kn-2}^{(k)} = G_{k(n-1)+(k-2)}^{(k)}$$

= $G_{n-1}^{k-(k-2)} G_{(n-1)+1}^{k-2}$
= $G_n^{k-2} G_{n-1}^2$
= $G_n^{k-2} (G_{n+1} - G_n)^2$
= $G_{kn+2}^{(k)} - 2G_{kn+1}^{(k)} + G_{kn}^{(k)}$.

Corollary 3.3. Let n be a positive integer. Then

$$G_{3n-2}^{(3)} = G_{3n+2}^{(3)} - 2G_{3n+1}^{(3)} + G_{3n}^{(3)}$$

Proof: For k = 3, the corollary follows by Theorem 3.3.

Theorem 3.4. Let n, k be positive integers. Then

$$G_{kn+2}^{(k)} - G_{kn-2}^{(k)} = G_{kn-1}^{(k)} + G_{kn+1}^{(k)}.$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for $n = mk + r \ (0 \le r < k)$. By Theorem 3.2 and Theorem 3.3, we get

$$\begin{aligned} G_{kn+2}^{(k)} - G_{kn-2}^{(k)} &= \left(G_{kn}^{(k)} + 2G_{kn-1}^{(k)} + G_{kn-2}^{(k)} \right) - \left(G_{kn+2}^{(k)} - 2G_{kn+1}^{(k)} + G_{kn}^{(k)} \right) \\ &= 2G_{kn-1}^{(k)} + G_{kn-2}^{(k)} - G_{kn+2}^{(k)} + 2G_{kn+1}^{(k)}. \end{aligned}$$

Then, we have

$$\begin{aligned} G_{kn+2}^{(k)} - G_{kn-2}^{(k)} - G_{kn-2}^{(k)} + G_{kn+2}^{(k)} &= 2G_{kn-1}^{(k)} + 2G_{kn+1}^{(k)} \\ 2\left(G_{kn+2}^{(k)} - G_{kn-2}^{(k)}\right) &= 2\left(G_{kn-1}^{(k)} + 2G_{kn+1}^{(k)}\right) \\ G_{kn+2}^{(k)} - G_{kn-2}^{(k)} &= G_{kn-1}^{(k)} + G_{kn+1}^{(k)}. \end{aligned}$$

Corollary 3.4. Let n be a positive integer. Then

$$G_{3n+2}^{(3)} - G_{3n-2}^{(3)} = G_{3n-1}^{(3)} + G_{3n+1}^{(3)}$$

Proof: For
$$k = 3$$
, the corollary follows by Theorem 3.4.

Theorem 3.5. Let n, k be positive integers. Then

$$G_{kn+3}^{(k)} = G_{kn}^{(k)} + 3G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)}.$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$. Consider $G_{kn+3}^{(k)} = G_n^{k-3} G_{n+1}^3$ $= G_n^{k-3} (G_n + G_{n-1})^3$ $= G_{kn}^{(k)} + 3G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)}.$

Corollary 3.5. Let n be a positive integer. Then

$$G_{3n+3}^{(3)} = G_{3n}^{(3)} + 3G_{3n-1}^{(3)} + 3G_{3n-2}^{(3)} + G_{3n-3}^{(3)}$$

Proof: For k = 3, the corollary follows by Theorem 3.5.

Theorem 3.6. Let n, k be positive integers. Then

$$G_{kn-3}^{(k)} = G_{kn+3}^{(k)} - 3G_{kn+2}^{(k)} + 3G_{kn+1}^{(k)} - G_{kn}^{(k)}.$$

Proof: Since
$$G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$$
 for $n = mk + r$ $(0 \le r < k)$, we consider
 $G_{kn-3}^{(k)} = G_{k(n-1)+(k-3)}^{(k)}$
 $= G_{n-1}^{k-(k-3)} G_{(n-1)+1}^{k-3}$
 $= G_{n-1}^3 G_n^{k-3}$
 $= G_n^{k-3} (G_{n+1} - G_n)^3$
 $= G_{kn+3}^{(k)} - 3G_{kn+2}^{(k)} + 3G_{kn+1}^{(k)} - G_{kn}^{(k)}$.

Corollary 3.6. Let n be a positive integer. Then

$$G_{3n-3}^{(3)} = G_{3n+3}^{(3)} - 3G_{3n+2}^{(3)} + 3G_{3n+1}^{(3)} - G_{3n}^{(3)}.$$

Proof: For k = 3, the corollary follows by Theorem 3.6.

Theorem 3.7. Let n, k be positive integers. Then

$$G_{kn+3}^{(k)} - G_{kn-3}^{(k)} = 4G_{kn}^{(k)}.$$

Proof: Since $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for $n = mk + r \ (0 \le r < k)$, we consider

$$G_{kn+3} - G_{kn-3}$$

$$= \left(G_{kn}^{(k)} + 3G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)}\right) - \left(G_{kn+3}^{(k)} - 3G_{kn+2}^{(k)} + 3G_{kn+1}^{(k)} - G_{kn}^{(k)}\right)$$

$$= 2G_{kn}^{(k)} + 3G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)} - G_{kn+3}^{(k)} + 3G_{kn+2}^{(k)} - 3G_{kn+1}^{(k)}.$$

Then, we have

 $\begin{aligned} G_{kn+3}^{(k)} - G_{kn-3}^{(k)} - G_{kn-3}^{(k)} + G_{kn+3}^{(k)} &= 2G_{kn}^{(k)} + 3G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + 3G_{kn+2}^{(k)} - 3G_{kn+1}^{(k)}. \end{aligned}$ By Theorem 3.5 and Theorem 3.6, we obtain $G_{kn-1}^{(k)} + G_{kn-2}^{(k)} &= G_{kn}^{(k)}$ and $G_{kn+2}^{(k)} - G_{kn+1}^{(k)} = G_{kn}^{(k)}$. So, we get

$$2G_{kn+3}^{(k)} - 2G_{kn-3}^{(k)} = 2G_{kn}^{(k)} + 3G_{kn}^{(k)} + 3G_{kn}^{(k)}$$
$$2\left(G_{kn+3}^{(k)} - G_{kn-3}^{(k)}\right) = 8G_{kn}^{(k)}$$
$$G_{kn+3}^{(k)} - G_{kn-3}^{(k)} = 4G_{kn}^{(k)}.$$

Corollary 3.7. Let n be a positive integer. Then

$$G_{3n+3}^{(3)} - G_{3n-3}^{(3)} = 4G_{3n}^{(3)}$$

Proof: For k = 3, the corollary follows by Theorem 3.7.

804

r	_	_	_	۱.
				L
				L
				L

Theorem 3.8. Let n, k be positive integers. Then

$$G_{kn+3}^{(k)} + G_{kn}^{(k)} = G_{kn+2}^{(k)} + 2G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)}$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$. By Theorem 3.1 and Theorem 3.5, we consider

$$G_{kn+3}^{(k)} + G_{kn}^{(k)} = \left(G_{kn}^{(k)} + 3G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)}\right) + \left(G_{kn+1}^{(k)} - G_{kn-1}^{(k)}\right)$$
$$= G_{kn+2}^{(k)} + 2G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)}.$$

Corollary 3.8. Let n be a positive integer. Then

$$G_{3n+3}^{(3)} + G_{3n}^{(3)} = G_{3n+2}^{(3)} + 2G_{3n-1}^{(3)} + 3G_{3n-2}^{(3)} + G_{3n-3}^{(3)}.$$

Proof: For k = 3, the corollary follows by Theorem 3.8.

Theorem 3.9. Let n, k be positive integers. Then

$$G_{kn+3}^{(k)} - G_{kn}^{(k)} = 3G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)}$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for $n = mk + r \ (0 \le r < k)$. By Theorem 3.1 and Theorem 3.5, we consider

$$G_{kn+3}^{(k)} - G_{kn}^{(k)} = \left(G_{kn}^{(k)} + 3G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)}\right) - \left(G_{kn+1}^{(k)} - G_{kn-1}^{(k)}\right)$$
$$= 3G_{kn-1}^{(k)} + 3G_{kn-2}^{(k)} + G_{kn-3}^{(k)}.$$

Corollary 3.9. Let n be a positive integer. Then

$$G_{3n+3}^{(3)} - G_{3n}^{(3)} = 3G_{3n-1}^{(3)} + 3G_{3n-2}^{(3)} + G_{3n-3}^{(3)}$$

Proof: For k = 3, the corollary follows by Theorem 3.9.

Theorem 3.10. Let n, k be positive integers. Then

$$G_{kn-3}^{(k)} + G_{kn-2}^{(k)} + G_{kn-1}^{(k)} = G_{kn+3}^{(k)} - 2G_{kn+2}^{(k)} + 2G_{kn+1}^{(k)} - G_{kn}^{(k)}.$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$. By Theorem 3.1, Theorem 3.3 and Theorem 3.6, we obtain

$$G_{kn-3}^{(k)} + G_{kn-2}^{(k)} + G_{kn-1}^{(k)}$$

$$= \left(G_{kn+3}^{(k)} - 3G_{kn+2}^{(k)} + 3G_{kn+1}^{(k)} - G_{kn}^{(k)}\right) + \left(G_{kn+2}^{(k)} - 2G_{kn+1}^{(k)} + G_{kn}^{(k)}\right) + \left(G_{kn+1}^{(k)} - G_{kn}^{(k)}\right)$$

$$= G_{kn+3}^{(k)} - 2G_{kn+2}^{(k)} + 2G_{kn+1}^{(k)} - G_{kn}^{(k)}.$$

Corollary 3.10. Let n be a positive integer. Then

$$G_{3n-3}^{(3)} + G_{3n-2}^{(3)} + G_{3n-1}^{(3)} = G_{3n+3}^{(3)} - 2G_{3n+2}^{(3)} + 2G_{3n+1}^{(3)} - G_{3n}^{(3)}$$

Proof: For k = 3, the corollary follows by Theorem 3.10.

Example 3.1. From Corollary 3.10, if we consider in case n = 1, we have

$$\begin{aligned} & G_6^{(3)} - 2G_5^{(3)} + 2G_4^{(3)} - G_2^{(3)} \\ &= a^3 + 3a^2b + 3ab^2 + b^3 - 2\left(a^2b + 2ab^2 + b^3\right) + 2\left(ab^2 + b^3\right) - \left(ab^2 + b^3\right) \\ &= a^3 + a^2b + ab^2 \\ &= G_0^{(3)} + G_1^{(3)} + G_2^{(3)}. \end{aligned}$$

Theorem 3.11. Let n be a positive integer. Then

$$G_n(G_{n-1})^2 = G_{3n+2}^{(3)} - 2G_{3n+1}^{(3)} + G_{3n}^{(3)}.$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$. Consider

$$G_n(G_{n-1})^2 = G_n(G_{n+1} - G_n)^2$$

= $G_n G_{n+1}^2 - 2G_n^2 G_{n+1} + G_n^3$
= $G_{3n+2}^{(3)} - 2G_{3n+1}^{(3)} + G_{3n}^{(3)}$.

Theorem 3.12. Let n be a positive integer. We have

$$G_{n-1}(G_n)^2 = G_{3n+3}^{(3)} - G_{3n+2}^{(3)} - 2G_{3n-2}^{(3)} - G_{3n-3}^{(3)}$$

Proof: Since $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$, we consider

$$\begin{aligned} G_{n-1}(G_n)^2 &= G_{n-1}(G_{n+1} - G_{n-1})^2 \\ &= G_{n-1}G_{n+1}^2 - 2G_{n-1}^2G_{n+1} + G_{n-1}^3 \\ &= G_{n+1}^2(G_{n+1} - G_n) - 2G_{n-1}^2(G_n + G_{n-1}) + G_{n-1}^3 \\ &= G_{n+1}^3 - G_nG_{n+1}^2 - 2G_{n-1}^2G_n - G_{n-1}^3 \\ &= G_{3n+3}^{(3)} - G_{3n+2}^{(3)} - 2G_{3n-2}^{(3)} - G_{3n-3}^{(3)}. \end{aligned}$$

Theorem 3.13. Let n be a positive integer. We have

$$G_n(G_{n+1})^2 = G_{3n}^{(3)} + 2G_{3n-1}^{(3)} + G_{3n-2}^{(3)}.$$

Proof: Since $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for $n = mk + r \ (0 \le r < k)$, we obtain

$$G_n(G_{n+1})^2 = G_n(G_n + G_{n-1})^2$$

= $G_n^3 + 2G_{n-1}G_n^2 + G_{n-1}^2G_n$
= $G_{3n}^{(3)} + 2G_{3n-1}^{(3)} + G_{3n-2}^{(3)}$.

Theorem 3.14. Let n be a positive integer. We have

$$G_{n+1}(G_n)^2 = -G_{3n+3}^{(3)} + 2G_{3n+2}^{(3)} + G_{3n-2}^{(3)} + G_{3n-3}^{(3)}$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for $n = mk + r \ (0 \le r < k)$. Then

$$\begin{aligned} G_{n+1}(G_n)^2 &= G_{n+1}(G_{n+1} - G_{n-1})^2 \\ &= G_{n+1}^3 - 2G_{n+1}^2G_{n-1} + G_{n-1}^2G_{n+1} \\ &= G_{n+1}^3 - 2G_{n+1}^2(G_{n+1} - G_n) + G_{n-1}^2(G_n + G_{n-1}) \\ &= -G_{n+1}^3 + 2G_nG_{n+1}^2 + G_{n-1}^2G_n + G_{n-1}^3 \\ &= -G_{3n+3}^{(3)} + 2G_{3n+2}^{(3)} + G_{3n-2}^{(3)} + G_{3n-3}^{(3)}. \end{aligned}$$

Theorem 3.15. Let n be a positive integer. We have

 $(G_{n+1})^3 = G_{3n}^{(3)} + 3G_{3n-1}^{(3)} + 3G_{3n-2}^3 + G_{3n-3}^{(3)}.$

Proof: Since $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for $n = mk + r \ (0 \le r < k)$, we consider

$$(G_{n+1})^3 = (G_n + G_{n-1})^3$$

= $G_n^3 + 3G_{n-1}G_n^2 + 3G_{n-1}^2G_n + G_{n-1}^3$
= $G_{3n}^{(3)} + 3G_{3n-1}^{(3)} + 3G_{3n-2}^{(3)} + G_{3n-3}^{(3)}$.

Theorem 3.16. Let n be a positive integer. We have

$$(G_{n+2})^3 = G_{3n}^{(3)} + 3G_{3n+1}^{(3)} + 3G_{3n+2}^{(3)} + G_{3n+3}^{(3)}.$$

Proof: Since $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$, we obtain $(G_{n+2})^3 = (G_n + G_{n+1})^3$ $= G_n^3 + 3G_n^2 G_{n+1} + 3G_n G_{n+1}^2 + G_{n+1}^3$ $= G_{3n}^{(3)} + 3G_{3n+1}^{(3)} + 3G_{3n+2}^{(3)} + G_{3n+3}^{(3)}.$

Theorem 3.17. Let n be a positive integer. Then

$$(G_{n+3})^3 = G_{3n+3}^{(3)} + 3G_{3n+4}^{(3)} + 3G_{3n+5}^{(3)} + G_{3n+6}^{(3)}.$$

Proof: We have
$$G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$$
 for $n = mk + r$ $(0 \le r < k)$. We obtain
 $(G_{n+3})^3 = (G_{n+1} + G_{n+2})^3$
 $= G_{n+1}^3 + 3G_{n+1}^2 G_{n+2} + 3G_{n+1}G_{n+2}^2 + G_{n+2}^3$
 $= G_{3n+3}^{(3)} + 3G_{3n+4}^{(3)} + 3G_{3n+5}^{(3)} + G_{3n+6}^{(3)}.$

Theorem 3.18. Let k, n, t be positive integers. Then

$$G_{3n+k+t}^{(3)}G_{3n+k+t-2}^{(3)} - \left(G_{3n+k+t-1}^{(3)}\right)^2 = \begin{cases} G_{4n}^{(4)}G_{(k+1)(n+1)}^{(k+1)}G_{(1-k)(n-1)}^{(1-k)} - G_{6n+2k}^{(6)}, & t = 1\\ 0, & t \neq 1 \end{cases}$$

Proof: For t = 1, we obtain

$$\begin{aligned} G_{3n+k+1}^{(3)}G_{3n+k-1}^{(3)} - \left(G_{3n+k}^{(3)}\right)^2 &= \left(G_{3(n)+(k+1)}^{(3)}G_{3(n-1)+(k+2)}^{(3)}\right) - \left(G_{3(n)+k}^{(3)}\right)^2 \\ &= \left(G_n^{3-k-1}G_{n+1}^{k+1}\right) \left(G_{n-1}^{3-k-2}G_n^{k+2}\right) - \left(G_n^{3-k}G_{n+1}^k\right)^2 \\ &= \left(G_n^4G_{n+1}^{k+1}G_{n-1}^{1-k}\right) - \left(G_n^{6-2k}G_{n+1}^{2k}\right) \\ &= G_{4n}^{(4)}G_{(k+1)(n+1)}^{(k+1)}G_{(1-k)(n-1)}^{(1-k)} - G_{6n+2k}^{(6)}.\end{aligned}$$

For $t \neq 1$, we obtain

$$G_{3n+k+t}^{(3)}G_{3n+k+t-2}^{(3)} - \left(G_{3n+k+t-1}^{(3)}\right)^{2}$$

$$= G_{3(n)+(k+t)}^{(3)}G_{3(n)+(k+t-2)}^{(3)} - \left(G_{3(n)+(k+t-1)}^{(3)}\right)^{2}$$

$$= \left(G_{n}^{3-k-t}G_{n+1}^{k+t}\right)\left(G_{n}^{3-k-t+2}G_{n+1}^{k+t-2}\right) - \left(G_{n}^{3-k-t+1}G_{n+1}^{k+t-1}\right)^{2}$$

$$= \left(G_{n}^{8-2k-2t}G_{n+1}^{2k+2t-2}\right) - \left(G_{n}^{8-2k-2t}G_{n+1}^{2k+2t-2}\right)$$

$$= 0.$$

Theorem 3.19. Let n be a positive integer. Then

$$G_{kn}^{(k)}G_{kn-2}^{(k)} - \left(G_{kn-1}^{(k)}\right)^2 = 0.$$

Proof: We have $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$. We obtain

$$G_{kn}^{(k)}G_{kn-2}^{(k)} - \left(G_{kn-1}^{(k)}\right)^2 = G_{k(n)+0}^{(k)}G_{k(n-1)+(k-2)}^{(k)} - \left(G_{k(n-1)+(k-1)}^{(k)}\right)^2$$

= $\left(G_n^k\right)\left(G_{n-1}^2G_n^{k-2}\right) - \left(G_{n-1}G_n^{k-1}\right)^2$
= $G_n^{2k-2}G_{n-1}^2 - G_{n-1}^2G_n^{2k-2}$
= 0.

Theorem 3.20. Let n be a positive integer. Then

$$\sum_{i=0}^{k-3} \binom{k-3}{i} G_{kn+3+i}^{(k)} = G_{3n+3}^{(3)} G_{(k-3)(n+2)}^{(k-3)}.$$

Proof: Since $G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r$ for n = mk + r $(0 \le r < k)$, and the well known binomial property, we obtain

$$\begin{split} \sum_{i=0}^{k-3} \binom{k-3}{i} G_{kn+3+i}^{(k)} &= \sum_{i=0}^{k-3} \binom{k-3}{i} G_{k(n)+(3+i)}^{(k)} \\ &= \sum_{i=0}^{k-3} \binom{k-3}{i} G_n^{k-(3+i)} G_{n+1}^{3+i} \\ &= \sum_{i=0}^{k-3} \binom{k-3}{i} G_n^{k-3-i} G_{n+1}^{3+i} \\ &= G_{n+1}^3 \sum_{i=0}^{k-3} \binom{k-3}{i} G_n^{k-3-i} G_{n+1}^{3+i-3} \\ &= G_{n+1}^3 (G_n + G_{n+1})^{k-3} \\ &= G_{3n+3}^{(3)} G_{(k-3)(n+2)}^{(k-3)}. \end{split}$$

4. Discussion and Conclusion. In this paper, we have proved some theorems concerning the k-generalized Fibonacci numbers, especially in the case $kn \pm r$ where $r \in \{0, 1, 2, 3\}$. In Theorem 3.1, Theorem 3.2, and Theorem 3.5, we have written $G_{kn+1}^{(k)}$, $G_{kn+2}^{(k)}$ and $G_{kn+3}^{(k)}$ in terms of $G_{kn-r}^{(k)}$ where $r \in \{0, 1, 2, 3\}$. Mereover, in Theorem 3.3 and Theorem 3.6, we have written $G_{kn-2}^{(k)}$ and $G_{kn-3}^{(k)}$ in terms of $G_{kn+r}^{(k)}$ where $r \in \{0, 1, 2, 3\}$. Moreover, in case of $G_{kn-1}^{(k)}$, it is easy to see in Theorem 3.1. Furthermore, we have given the difference of $G_{kn+r}^{(k)}$ and $G_{kn-r}^{(k)}$ where $r \in \{0, 1, 2, 3\}$ in Theorem 3.4 and Theorem 3.7. Moreover, we express generalized Fibonacci number in the form of k-generalized Fibonacci number distributions in Theorem 3.11-3.17.

In the future, the researchers can investigate the boundary of k-generalized Fibonacci sequences.

REFERENCES

- W. Do and K. Eguchi, A control way of a Fibonacci sequence switched capacitor DC-DC converter for higher power efficiency, *ICIC Express Letters*, vol.12, no.1, pp.55-60, 2018.
- [2] C. M. Campbell and P. P. Campbell, The Fibonacci length of certain centro-polyhedral groups, Journal of Applied Mathematics and Computing, vol.19, pp.231-240, 2005.
- [3] Ö. Deveci, The polytopic sequences in finite groups, Discrete Dynamics in Nature and Society, vol.12, 2011.
- [4] Ö. Deveci, The Pell-Padovan sequences and the Jacobsthal-Padovan sequences in finite groups, Utilitas Mathematica, vol.98, pp.257-270, 2015.
- [5] T. Koshy, Fibonacci and Lucas Numbers with Applications, Wiley-Interscience Publication, John Wiley and Sons Inc., 2001.
- [6] M. El-Mikkawy and T. Sogabe, A new family of k-Fibonacci numbers, Applied Mathematics and Computation, vol.215, pp.4456-4461, 2010.
- [7] K. Ari, On h(x)-Lucas quaternion polynomials, Ars Combinatoria, vol.121, pp.291-303, 2015.
- [8] A. Grabowski and P. Wojtecki, Lucas numbers and generalized Fibonacci numbers, Formalized Mathematics, vol.12, pp.329-334, 2004.
- [9] A. Ípek and K. Ari, On h(x)-Fibonacci octonion polynomials, Alabama Journal of Mathematics, vol.29, 2015.
- [10] E. Kilic and D. Tasci, On the generalized order-k Fibonacci and Lucas numbers, Rocky Mountain Journal of Mathematics, vol.36, pp.1915-1926, 2006.
- [11] G. Y. Lee, k-Lucas numbers and associated bipartite graph, Linear Algebra and Its Applications, vol.302, nos.1-3, pp.51-61, 2000.
- [12] P. S. Stanimirovic, J. Nikolov and I. Stanimirovic, A generalization of Fibonacci and Lucas matrices, Discrete Applied Mathematics, vol.156, pp.2606-2619, 2008.

- [13] R. B. Taher and M. Rachidi, On the matrix power and exponential by the r-generalized Fibonacci sequences method: The companion matrix case, *Linear Algebra and Its Applications*, vol.370, pp.341-353, 2003.
- [14] D. Tasci and E. Kilic, On the order-k generalized Lucas numbers, Applied Mathematics and Computation, vol.155, pp.637-641, 2004.
- [15] M. Mayusoh, N. Cheberaheng, R. Chinram and P. Petchkaew, On the generalized k-Fibonacci and k-Lucas numbers, Journal of Mathematics and Computer Science, vol.11, no.4, pp.4129-4138, 2021.
- [16] N. Yilmaz, A. Aydoğdu and E. Özkan, Some properties of k-generalized Fibonacci numbers, Mathematica Montisnigri, vol.50, pp.73-79, 2021.
- [17] N. Yilmaz, Y. Yazlik and N. Taskara, On the k-generalized Fibonacci numbers, Selcuk Journal of Applied Mathematics, vol.13, pp.83-88, 2012.